Birtnal
Quiz VII General Chemistry I Lecture Spring 14 Dr. Hahn 20 pts 4/15 T 8:30am Form A quiz #

Name /C(?/ﬂ—\, Name

(print name) N Jd (sign name) (I can’t read some of your handwriting.)

1. a. Give the electron configurationof  Sm  inthe format (1s? 268 .. etcd) (2 pts)
~ 7 -~

lsq, 2’52, lﬁé 3;7_’ Zlf/ ll_f?, }d?/ 4_f, 55/40e// .7/??_

dr 0 9‘
oG "3 Gi4d or

Give the valence electron configuration of the same element.in the same format. (2 pts)

st Sp’

c. Give the yalence electron configuration diagram for the same element in the format shown, The

drawing below is only to show format and has no information about the correct structure which you need to
draw. (2 pts)
A AL 4

1s 28 2p

2. Periodic Relationships: CirMe-the-omeTorrect choice. (4 pts)

[ ) or (N) ] has the larger atom size ( C {\(* C_,‘ € C"")..,QJ)

@or (Se) ] has the higher electronegativity C C [\fd o ON Q)
3. Give the Lewis Dot Symbol for the element » P & (4 pts)

fi}\m S- has 'S dets
4, a. Fortheformula  HSeCH; give the number of total valence electrons. Show work. (3 pts})
4 6+ 4 +3()=lpg B grow E#ic,
H  se C f Segrogp+#
b. Given the two structures drawn for the formula given abov? c1r%m ;Terf;r under the correct Lewis

Dot structure (3 pts) . H- Can %

[ 3] L 1]
S sH Se .

R s N >

@ , ®) "t

IK2= (¢& (Fx2= 286 ~ Coo ey €
Extra Credit: Give the dipole moment arrow (+--—- >} for the bond shown below. (3 pts

Heooeeee O O s mav?€n/ t}\@’*# U~ >M
At = = Ewas




Quiz VII General Chemistry I Lecture Spring 14 Dr. Hahn 20 pts 4/15 T 8:30am Form B quiz #

Name /{ A Name

(print name) * I (sign name) (I can’t read some of your handwriting.)

1. a. Give the electron conﬁguratlon of N intheformat (1s% 2s% ... etc)(2 pts)

52 252 ¢

b. Give the valence electron configuration of the same element.in the same format. (2 pts)
c. Give the valence electron configuration diagram for the same element in the format shown. The

drawing below is only to show format and has no information about the correct structure which you need to
draw. (2 pts) ’l i fz
1v Ak 1 '
Ton owm o 4 2P
Zs

2. Periodic Relationships: Circle the one correct choice. (4 pts)

[ (B) o@ has the smaller atom sizeC 0 VCJ . on Q)
@Lr%{‘j )] has the lower electronegat1v1ty CQ v C/{ € c)hQ)

3. Give the Lewis Dot Symbol for the element gBr‘ (4 pts)

brmgrig ) — has Ddots
4. a Fortheformula H; COH give the n_g_mber of total valence electrons. Show work. (3 pts)
L, (1®) + 48 + 62+ (2 - [4E
C O H

b. Given the two structures drawn for the formul
Dot structure (3 pts)

¢ the letter under the correct Lewis

Extra Credit: Give the dipole moment arrow (+----- >) for the bond shown below. (3 pts)

—— (Vs e 55 Critro O)
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Quiz VII General Chemistry I Lecture Spring 14 Dr. Hahn 20 pts 4/15 T 9:55am Form A quiz #

Name / Ce/(;/)/ Name

(print name) (sign name) (I can’t read some of your handwriting.)

1. a. Give the electron conﬁguratlon of Se intheformat (1s% 25 ... etc) (2 pts)

(52 Zf)if,%;bafe #4254 o

O 4t
b. Give the valence e?;c{ron conﬂguration of the same element.in the same format. (2 pts)
2_ .
C. Give the valence electron configuration diagram for the same element in the format shown. The
drawing below is only to show format and has no information about the correct structure which you need to
draw. (2 pts)
v 41 1 Ak 4 4
45

2 Give the electron configuration for the ion ~ Mg™  (in the format 157, 2¢% 2p%.. ) (4 pts)

pocral 7Y 7 (s L5 Zfé, 35+
gt (55255 24 ¢

3 Gtve the Lewis Dot Symbol for the element o« Mg o (4 pts)

4 a. Forthe formula AsChL H give the number of fotal valence electrons. Show work. (3 pts)
Vet @2+ (e ZO @
As Q@ H

b. Given the two structures drawn for the formula given above, circle the letter under the correct Lewis

Dot structure (3 pts i
v » ; %P\M*"W @ o s
e R C— H p e H—ﬂ?s —{
L ] L 1]
&%—@_@—@ s
axz=(pe CHE
€0 [l €
Extra Credit: Give the dipole moment arrow {+----- >} for the bond shown below. {3 pts)
Cis (5 Gv2
¢ & €5 T g /\D




Quiz VII General Chemistry I Lecture Spring 14 Dr. Hahn 20 pts 4/15 T 9:55am FormB quiz #

Name k P Name

(print name) i (7 {(sign name) (I can’t read some of your handwriting.)

1. a Givethe ectron configuration of €l in the format ( 15%, 257, ... etc.) (2 pts)
p

\92_’ 2\§ Lré 553 ¥ 7 o Cﬂ/EJ %L/ §f~;

b. Give the valence electron conﬁguration of the same element.in the same format. (2 pts)
39 S
C. Give the valence electron configuration diagram for the same element in the format shown. The

drawing below is only to show format and has no information about the correct structure which you need to

draw. (2 pts)q ﬂk —ﬂ_{( _/L

Av i
= n w0 Ay i
13

2 Give the electron configuration forthe ion  Se? (in the format 1s*, 2s% 2p®...)) (4 pts)

normdl S€ & Linfig =3 CAD 454 3d" 4, F
Se™ (’v%)———? Cho) 455 o 4 ®

3 Give the Lewis Dot Symbol for ihe elemem; ] Geo(4 pts)
n gres : Ge‘
k; hS 4 c:WJ

4a For the formula H C O F give the number of total valence electrons Show work. (3 pts)

C(e)+(4e)+ Ge+ V% = (e
b C Q F

b. Given the two structures drawn for the formula given above, circle the letter under the correct Lew1s

Dot structure (3 pts) " 2 ¥ [ oA~ el ¢

K A . bAd O haj /Oé"c}' CA{)U‘/O .
J—NF: H— 3 NAGalpyes y

—

@ Qyarz [pe ® v 226
Loome e

Extra Credit: Give the dipole moment arrow (+——- >) for the bond shown below. (3 pts)

+—7
C wememnemees Br Cis less SV Hrva o
I —



%) jm'%ﬂ
Quiz VII General Chemistry I Lecture Spring 14 Dr. Hahn 20 pts 4/15 T 8:30am Form A quiz #

Name Name

(print name) (sign name) (I can’t read some of your handwriting.)

1. a. Give the electron configuration of ~ Sn  in the format ( 15%, 25, ... etc.) (2 pts)

b. Give the yalence electron configuration of the same element.in the same format. (2 pts)
c. Give the valence electron configuration diagram for the same element in the format shown. The

drawing below is only to show format and has no information about the correct structure which you need to
draw. (2 pts)
1 AL 4

1s 25 2p

2. Periodic Relationships: Circle the one correct choice. (4 pts)
[ (As) or (N)] has the larger atom size ( '&\"s C,( € O%)
[(O) or (Se) ] has the higher electronegativity C C l\('('/l e O Q)

3. Give the Lewis Dot Symbol for theelement P (4 pts)

4. a Fortheformula HSeCH; give the number of total valence electrons. Show work. (3 pts)

b. Given the two structures drawn for the formula given above, circle the letter under the correct Lewis
Dot structure (3 pts)

L L e L 1]
H %- : H §.e ...
/-H . _ /f{ .
s
@) () .7

Extra Credit: Give the dipole moment arrow (+——- >) for the bond shown below. (3 pts)

5 QR



Quiz VII General Chemistry I Lecture Spring 14 Dr. Hahn 20 pts 4/15 T 8:30am Form B quiz #

Name Name

(print name) (sign name) (I can’t read some of your handwriting.)

1. a. Give the electron configuration of N inthe format ( 1s% 25 ... etc.) (2 pts)

b. Give the valence electron configuration of the same element.in the same format. (2 pts)

c. Give the valence electron configuration diagram for the same element in the format shown. The

drawing below is only to show format and has no information about the correct structure which you need to
draw. (2 pts)

1v 4y 1

1s 28 2p

2. Periodic Relationships: Circle the one correct choice. (4 pts)

[ (B) or (N)]has the smaller atom sizec Cl VC/( { on Q)
[(AD) or ( Cl ) ] has the lower electronegativity C v C/[ € a)r\Q)

3. Give the Lewis Dot Symbol for the element Br (4 pts)

4. a Fortheformula H;COH givethe ngmber of total valence electrons. Show work. (3 pts)

b. Given the two structures drawn for the formula given above, circle the letter under the correct Lewis
Dot structure (3 pts)

5‘ ]
e .
H— C——0—H} H—f?————
] (1] 48
H H
(a) (b)
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Quiz VI General Chemistry I Lecture Spring 14 Dr. Hahn 20 pts 4/15 T 9:55am Form A quiz #

Name Name

(print name) (sign name) (I can’t read some of your handwriting.)

1. a Give the electron configurationof ~ Se  in the format ( 15, 25%, ... etc)) (2 ts)
p

b. Give the valence electron configuration of the same element.in the same format. (2 pts)

c. Give the valence electron configuration diagram for the same element in the format shown. The

drawing below is only to show format and has no information about the correct structure which you need to

draw. (2 pts)
LA T

Is 2s 2p

2 Give the electron configuration for the ion ~ Mg  (in the format 1s?, 2s% 2p®....) (4 pts)

3 Give the Lewis Dot Symbol for the element Mg (4 pts)
4 a. Forthe formula AsChL H  give the pumber of fotal valence electrons. Show work. (3 pts)

b. Given the two structures drawn for the formula given above, circle the letter under the correct Lewis
Dot structure (3 pts)

P ) | 14 [ 1Y

. L1
1 hqoH]
*s
(a) ®

Extra Credit: Give the dipole moment arrow (+--—- >) for the bond shown below. (3 pts)

7

o, \



Quiz VII General Chemistry I Lecture Spring 14 Dr. Hahn 20 pts 4/15 T 9:55am Form B quiz #

Name Name

(print name) (sign name) (I can’t read some of your handwriting.)

1. a. Give the electron configuration of €l inthe format ( 1%, 25, ... etc) (2 pts)

b. Give the valence electron configuration of the same element.in the same format. (2 pts)
c. Give the valence electron configuration diagram for the same element in the format shown. The
drawing below is only to show format and has no information about the correct structure which you need to
draw. (2 pts)

(R P

1 s 2

2 Give the electron configuration for the ion Se? (inthe format 1s?, 2%, 2p%...) (4 pts)

3 Give the Lewis Dot Symbol for the element  Ge (4 pts)

4a For the formula H C O F give the number of total valence electrons. Show work. (3 pts)

b. Given the two structures drawn for the formula given above, circle the letter under the correct Lewis
Dot structure (3 pts)

o" '. o...u
L I .
H«-LF . H—C——F ¢
.y [ 1] aw
(a) _ (d)

3



